


YcTHas paboTta

1. Berumcnure:

125-8;, 237+63; 84:4;

13-5; 127+25;  363:3;

25-8; 67-28; 126:6.

2. PewuTe ypagHeHus:

a)x+2=18; 6)x-12=7; 8)18:x=3; r) x-3=21.
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TTosTOpeHue
L6 6 9 1215 12

1. Cpeau npodeit 4’21721 21’ 28° o8 BBIOCPUTE
T¢, KOTOPbIC PaBHbI %

2. Crnoxute 1poou :

a)4 > ;0) — I/Il 13)21/1g r) 3

1212 7 7 36126
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YuyebHUK

1. Ne 883, 884, 893.
2. Ne 895, 897, 899.
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NToru ypoka

1. Kak cnoxutb apobu ¢ 0AUMHAKOBLIMU
3HameHaTenamm?

2. Kak cnoxutb apobu ¢ pasHbIMMU
3HaMeHaTensmu?




[omawHee 3aaaHUE
1. Ne 886, 890, 895(s).
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